Y2258 AHERAR

iz EETRB HENE
406252 e it Bk R MY B B £ ] B B £ O]
FrEHKX IS i 0 2P HaRATEL f&T 4
R IKES
FREARGIKREHAD (H23.3.3135%1) 21,918 A IREHOKRISERE | of 0 FTELmE KTEE388,. ) o 8,943
B E A E R A D HB331RE 91 A N REHKAD | A 3,454 BEAS i 5
RGBT RESOKREES |, 2,890,000 Bl T 0
(DBEBKICHDDED) ’ ’ I;Euiﬁﬁ
B 8 W B e o REHKAD | A 0 SERSH A 0
= MRS R NERKRIAEE | . -
SR m 457,845 O ety | o 0 BEHREE BT B 1
PEFES
@i ot 2,051,664 ) K e | A 0 Bl it 2
TokEs MEEBEOKER KRS REE - HRAEE
- THETNII it 10 TUDIASSES | 0 SEHESH | A 0
&P
o I AO p— e
75 Znft ] 2 . Eggﬁﬂ(n\méem A 0 PN EPIE ] 7
P & o —
1“8 Qeliituavs i 73,880 REMKKEAEE | 0 SEHEM A 0
[iif = e
2ot uf 10,890 N e | A 0 B it 3
IR ESHIKNIENEE B HKRISE ESS
e =L bl 1,023 TUDIASSES | 0 SEBEHR A 4
FBS  sppsmge == I 1,023 D225+ - IS5V FUEAD A 0 P i |
— T zotuomey | S8 _
2Btk (FREIAD m 94,169 SHNB B CEMZAD A 7,221 AT SITHESHN N 3
MBIER (THEIA) m 41,672 | TETAYIIAERY EPTE i AT 6 [EE i AT 6
.. REm —— ABE8
MIBAD A 10,860 'fug#a —BPEIBHASINES | BT AT 0.0 SITHESHN N 0
UEBR il
FEEY) FRIMBINGES Kl 11,059 =5 = | TEINITIMEES EPTE i AT 0 [EE i AT 2
SFEE
IIZHE SiEii —— E LS
=& IO A 21,918 = —EPEISASIINESR BT T 0.0 SERSH A 0
CH
FRIMBINGES t 4,719 - EL:IENAVAIERH EPTE i AT 0 (G i AT 3
SESA IS
HEIATE N 610 —BPEIBHASIINES | BT AT 0.0 SITHESHN N 0
mzaE BhE EL:IENAVAIERH EPTE £
N N —BISEBHEEE | A 0 = | SRIEE VAVAiEHH [ZiE: &7 0 &2k f&HT 4
Lk i zam O = c)
arisIzk HEINE A 251 BIR—A | —EEHMASIINER BT i 0.0 SIEHSH A 0
PHEIESY  _mammas o 0 TR El ST 0 REEVH— @M it 3
BEBEA
BEHAAD | A 1,652 N=h _memmsTims B 6 0.0 - s it 0
HEHKRISEE | o 990,000 | |z HREENER TEIAIIINESR R | 0 BROX SEBEN | A 0
REHKRSER | of 340,000 Ly SEIFfthE% | REIAY Y1 5E5% S AT 0 P R AT 120
=hEsR
SHEHRFRAMBS | (i 1 LEE nt 5,799
TokEE RETKE IRTEARRAMIBIS | @i 1 = THEIE nf 1,299,477
&
SHEIMERIGES | nf 990,000 ZEME o 1,459,784
REIMERISERE | nf 340,000 THIRRES ot 0
2s
REMERIGRAO | A 1,652 ZDOEE nf 0
REKSERRBEAD | A 1,331




